BEX(BEE—BEFE—BRR) MG R AR TE AESRET R

No MBI fEHH BR BB Hi% 5 S HE e BR 7 ETOEE BMS B80S BA
1 *% R1.10.27 T = R R4.3.10 28.4 A 5 79 9.7 38 75.8 12 3 5515
2 = R1.10.22 T iskhE TEBA £ 1R R4.3.10 28.6 A 5 85 8.6 2.7 76.9 12 3 551.1
3 = R1.11.14 T 21 R R4.2.17 27.2 A 5 70 10.1 26 75.3 11 3 606.7
4 =& R1.11.10 T ZE ALES R4.4.6 28.9 A 5 68 10.3 2.9 75.2 10 3 5818
5 & R1.11.14 fg BT E =] R R4.4.6 28.7 A 5 87 9.6 2.3 78.0 9 4 562.5
6 * R1.11.26 p v oL R ALY R4.4.6 283 A 5 70 8.3 40 74.4 9 3 488.1
7= R1.10.21 ok HE1E £t R R4.3.10 28.6 A 4 63 9.4 2.5 74.8 7 4 551.1
8 =* R1.10.26 T TBA ALY R4.3.10 285 A 4 57 8.3 3.1 73.0 7 3 526.8
9 =& R1.10.21 RIEBA ok R R4.3.10 28.6 A 4 59 8.3 2.0 75.0 7 3 463.7
10 i R1.10.15 EE#% BEX &R R4.4.12 29.9 A 5 93 10.2 1.9 80.0 12 3 531.1
11 i R1.10.25 T S 1E R R4.4.12 29.6 A 5 93 10.3 3.3 78.9 12 4 519.0
12 i R1.10.28 T R LR R4.1.31 272 A 5 61 6.9 2.3 75.1 11 3 378.3
13 i R1.10.14 T THRE ALY R4.4.12 30.0 A 5 84 9.3 2.7 774 10 4 534.7
14 |t R1.11.1 ZH1E B R R4.4.6 29.2 A 5 77 10.0 2.9 774 10 3 486.5
15 i R1.11.3 - T ZRA ALY R4.2.3 271 A 5 94 8.1 2.6 78.6 9 3 488.4
16 It R1.11.29 & XER3 FxREE R R4.2.14 26.6 A 5 65 7.1 15 76.6 9 4 3756
17 i R1.10.28 X218 (2273 AL R4.5.18 30.7 A 5 76 8.2 1.8 78.2 8 4 396.2
18 It R1.10.13 T RRA R R4.2.14 28.1 A 5 59 7.5 2.5 74.9 8 4 396.0
1y (E38) 28.4 70.9 9.2 2.9 75.4 9.3 32 5426
15 (Itf) 28.7 78.0 8.6 2.4 775 9.9 36 456.2
1y (&1K) 28.6 74.4 8.9 2.6 76.4 9.6 34 499 4

= AR 2K

5FRE 66.7% 100.0% 83.3%

4ZE{E 33.3% 0.0% 16.7%

&t 100.0% 100.0% 100.0%



